Camper’s Supply
The manager of a camping supply store wants to make a trail mix of nuts and raisins to provide all the required nutrients at the lowest cost.  The chart shows the nutritional information and cost per ounce.
	
	Calories/oz.
	Fat/oz.
	Cost/oz.

	Nuts
	150
	13 g
	$0.40 

	Raisins
	90
	0 g
	$0.10 


Backpackers usually have a weight limit for their pack, so each package of trail mix will contain no more than 18 ounces.  The snack should supply at least 1800 Calories, with no more than 117 grams of fat.  How many ounces each of raisins and nuts should each package of trail mix contain to minimize the costs?

This optimization problem can be solved by using a method called linear programming.  The activities below lead to the solution produced by this method.  Let n represent the number of ounce of nuts.  Let r represent the number of ounces of raisins.

1.
Explain what the two equations in the following system represent:
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2.
Solve the system by graphing.

3.
Why can you represent the total amount of fat by the expression 13n?

4.
 Explain what the two equations in each system below represent.
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5.
Solve each system by graphing.  Graph both systems on the same coordinate plane.
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